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PasientKlarFraAr a LI LI LI LI LI LI LI LI LI LI LI LI LI
2015 4 2 2 5 4 12 20 49
2016 13 5 9 4 3 10 4 16 11 4 4 83

PasientKlarFraAr a RB RB RB RB RB RB RB RB RB RB RB RB RB
2015 14 14 19 19 22 24 7 27 27 21 16 17 227
2016 17 17 16 27 30 24 6 12 18 18 21 9 215

PasientKlarFraAr a RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr
2015 340 327 348 332 360 383 290 406 456 449 551 349 41591
2016 453 415 371 400 425 372 254 340 523 523 575 292 4i943
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Rekvisisjoner

Netto = 'Benyttet'

HenteKommune = 'KLCBU'

PasientKontor = 'St. Olavs hospital’
TransportType = 'TAX'

PasientKlarFraAr BetweenlInclusive(2015; 2016)

Rekvisisjoner (RB)

Netto = 'Benyttet'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
PasientKontor = 'St. Olavs hospital’
TransportType = 'TAX'

HenteKommune = 'KLCBU'

Rekvisisjoner (LI)

PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune = 'KLCBU'

Netto = 'Benyttet'

TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’

Pivot-tabell LI

Netto = 'Benyttet'

TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’
PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune = 'KLCBU'

Pivot-tabell RB

HenteKommune = 'KLCBU'

Netto = 'Benyttet'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’



Pivot-tabell

TransportType = 'TAX'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune = 'KLCBU'

Netto = 'Benyttet'

PasientKontor = 'St. Olavs hospital’
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